
    –   

   

          

Let’s multiply through to get into standard form. 

 𝑓(𝑥) = 4(𝑥 − 2) − 3  𝑓(𝑥) = −(𝑥 + 3) + 2  𝑓(𝑥) = 

(𝑥 + 1)

Now let’s look at a problem in     
𝑓(𝑥) = (𝑥 − 1) − 3

 

       



Let’s look at this problem. 𝑓(𝑥) = 𝑥 − 2𝑥 − 2       

Let’s list out the a, b and c for the equation above. 

  

    𝒙 = − 𝒃
𝟐𝒂

Let’s find the x –                 –  

  Now let’s create the vertex form equation: 𝒚 = 𝒂(𝒙 − 𝒉)𝟐 + 𝒌

          

Let’s try some more.  We are going to convert from         

 𝑦 = −4𝑥 − 8𝑥 + 7  𝑦 = 

𝑥 + 10𝑥 − 1  𝑦 = 𝑥 + 6



 𝑦 = −𝑥 − 2𝑥  863)( 2  xxxf  532)( 2  xxxf

 
𝑦 = (𝑥 − 2)(𝑥 − 4)

Let’s list out the information we know. 
   

       

        




